EARAROBEEIERT — 2 N— IBISH —F

2016558290 (H) 5EI£IR3H

m%*}RiﬁE - FAREER A2 YSR—HK (w8 | mEmml - |5 ) 0w
[AE4£] 17 :600,000  ~ 23#&:120,000  ~ 3 #&:54,000  ~ 43#&:42,000™ . 5 3&:24,000 9
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
° = 3 . 11 _ = 3
1l5l5|mT2E2>TU R #H 5 &fﬂgIE% 1_(5_3).3 1-1-1-1 | 40.2 3 466 %;Ti%; (£R)
R:TFGAT7 X244 B9IXE E—4 © YIARZLT7—L
2 # 7 | BEB 1:53.4 6-6-5-3 |39.2| — 2 498 | £H—E (&R)
EH 3 AXEXYALXT N 56.0 (3/4) (-1) | fEEEELME
L:7v3Io3—L B:YAT7KRLZR A B4%5
=iy 4 o6 | ZHERE 1:53.9 1-2-3-3 | 40.5| — 1 498 | EBER (£R)
3lgl11| EANVTHAT— 56.0 21/2) (1) | RATE
XD THANAN BiehlFxv T q— Rl LK
. o7 | REE 1:54.0 8-7-6-5 |39.7| — 6 463 | EAZ (£R)
] 6| NF71y bI— 56.0 1/2) @) |EEEZ® ’
R /INYR BiZa-—qarR HhEANTT— L
5 4 9 | BFELX 1:54.2 10-10-9-8 | 39.1 | — 7 472 | £E—E (£R)
517|8|7A& k/—b 56.0 ) (-3) Eﬂiﬁ%;
RZFAT—IE BA4AFTITU— () #HBI-—KL—Y a3 AETy
o o4 | HEHESR 1:54.4 6-8-8-7 |39.7| — 4 463 | BRI (£R)
6|1]1 | LA /NILE 56.0 (3/4) Chy | AHES
R:TA—T4FAF =¥ B:RU—LY—> N FA
c— e . BT : —-2-2- - MEBES (2R
707l g | NZNFF Y- o4 e 1.(514>.6 1-2-2-2 | 41.5 8 (4_915) BLE\EP%m
LihrexyU BIUYITRN)—L HRIEAKIS
= BEMALA : 56— — &R (£2R)
8 slEPLHIET-% 5 5 1.(525).0 5-5-6-6 | 40.8 5 :972) femn &
R:ANRRATNG BieALFrT1— FRES
35 4 6 | BERAA 1:55.3 11-10-11-10{ 39.7 | — 10 | 486 |EERtL (£R)
9|8[10| S77IVEDY 6.0 (1172 Ca | ) pxvIY
L:d—RAME— B:RF—TY—X> IS
o = AARAH :56. —-9-10- X = £H—8 (£R)
0 ol nyE—nIT-N B4 s 1(5(35 8-9-10-11 | 41.0 11 (4_4; =
29T b F—F7—K—K B:NyE—F—2v> B Ei
e . o4 _ afEke (2R)
1 7 E X EX DTS 4 4 54.03 (2?;?) 1-2-4-9 | 45.2 9 (4;7) it
LA nk—1 B:FAT423— e
® I —F—@EBIERL
13=7r= (5,7,9,11),4,(1,3),(2,6),8,10
2= = 5,(7,9,11),4,3,6,1,2, (8,10)
Jol=5r= 5,9,11,7,3,(4,6),1,8,2,10
40—+ — 5,9,(3,11),6,4,1,8,7,10,2
[ N3
BB 5 600H 714K 3-5 320M % E 3-5 750 3EHE 3-5-11 750M
8 B 5 210M 5-11 420M B 654 2,570M K31 5aSadlll 5,560
3 150/ 3-11 340M B E 3-5 700M
1 160/ B H ) 2,260

ABICOVWTRDTEEERROODE. TR LIV,




